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 ES-362  

BACHELOR OF EDUCATION 

Term-End Examination 

December, 2022 

 

ES-362: COMPUTERS IN EDUCATION 

Time : 3 hours Maximum Weightage : 70% 

Note :  All questions are compulsory. All questions carry 

equal weightage. 

 

1. Answer the following question in about  

600 words : 

 Describe the major components of Intelligent 

Tutoring System (ITS). What are the 

characteristics and limitations of ITS ?   

OR 

 Define Task Analysis. Explain the different 

approaches to Task Analysis.  

 

2. Answer the following question in about  

600 words : 

 Explain the use of computers in education, with 

suitable examples. 

OR 

 Compare the Bloom’s Mastery Learning Model 

with Ausubel’s Advance Organizer Model with 

reference to the structure and role of teacher.  
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3. Answer any four of the following questions in 

about 150 words each : 

(a) Describe the criteria for evaluation of 

educational software.   

(b) Explain the advantages of using computers 

for educational planning.  

(c) List the different methods of imparting 

computer-based instruction. Explain one of 

them.  

(d) Describe the process of Item Analysis.  

(e) Discuss the use of computers for effective 

management of library systems.  

(f) Discuss the benefits of computers in the 

Open Learning System.  

4. Answer the following question in about 

600 words : 

 As the Principal of your school, explain how you 

will use computers for effective administration of 

the school. 



ES-362 3   P.T.O. 
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 {ejm _| ñZmVH$ Cnm{Y 

gÌm§V narjm 

{Xgå~a,  2022 

 

B©.Eg.-362 : {ejm _| H$åß`yQ>a 

g_` : 3 KÊQ>o  A{YH$V_ ^m[aVm :  70% 

ZmoQ> : g^r Mmam| àíZ A{Zdm ©̀ h¢ & g^r àíZm§o H$s ^m[aVm  
g_mZ h¡ & 

1. {ZåZ{b{IV àíZ H$m CÎma bJ^J 600 eãXm| _| Xr{OE : 

 ~m¡{ÕH$ AZw{ejU nÕ{V (AmB©.Q>r.Eg.) Ho$ à_wI KQ>H$m| 
H$m dU©Z H$s{OE & AmB©.Q>r.Eg. H$s {deofVmE± Am¡a gr_mE± 
Š`m h¢ ? 

AWdm 

 H$m`© {díbofU (Q>mñH$ AZ¡{b{gg) H$m dU©Z H$s{OE & 
H$m`© {díbofU Ho$ {d{^Þ CnmJ_m| H$s ì`m»`m H$s{OE & 

2. {ZåZ{b{IV àíZ H$m CÎma bJ^J 600 eãXm| _| Xr{OE : 

 {ejm _| H$åß`yQ>am| Ho$ à`moJ H$s Cn`wº$ CXmhaUm| Ûmam 
ì`m»`m H$s{OE & 

AWdm 

 {ejH$ H$s ^y{_H$m Am¡a g§aMZm Ho$ g§X ©̂ _| ãby_ Ho$ 
ñdm{_Ëd A{YJ_ à{V_mZ (ãbyåg _mñQ>ar b{ZªJ _m°S>b) 
H$s Am°gmo~ob Ho$ A{J«_ g§JR>Z à{V_mZ (Am°gmo~oëg 
ES>dmÝg Am°J©oZmBµOa _m°S>b) Ho$ gmW VwbZm H$s{OE & 
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3. {ZåZ{b{IV _| go {H$Ýht Mma  na bJ^J 150 eãXm| 

(àË`oH$) _| g§{jßV {Q>ßn{U`m± {b{IE : 

(H$) e¡{jH$ gm°âQ>do`a Ho$ _yë`m§H$Z Ho$ {bE _mZX§S>m| H$m 
dU©Z H$s{OE & 

(I) e¡{jH$ {Z`moOZ Ho$ {bE H$åß`yQ>am| Ho$ à`moJ Ho$ bm^m| 
H$s ì`m»`m H$s{OE & 

(J) H$åß`yQ>a AmYm[aV {ZX©oeZ àXmZ H$aZo H$s {d{^Þ 
{d{Y`m| H$mo gyMr~Õ H$s{OE & CZ_| go {H$gr EH$ H$s 
ì`m»`m H$s{OE & 

(K) nX/EH$m§e {díbofU (AmBQ>_ AZ¡{b{gg) H$s à{H«$`m 
H$m dU©Z H$s{OE & 

(L>) nwñVH$mb` ì`dñWm Ho$ à^mdr à~ÝYZ Ho$ {bE 
H$åß`yQ>am| Ho$ à`moJ H$s n[aMMm© H$s{OE & 

(M) _wº$ A{YJ_ àUmbr _| H$åß`yQ>am| Ho$ bm^m| H$s 
n[aMMm© H$s{OE & 

4. {ZåZ{b{IV àíZ H$m CÎma bJ^J 600 eãXm| _| Xr{OE : 

 AnZo {dÚmb` Ho$ àYmZmMm`© Ho$ ê$n _| {dÚmb` Ho$ à^mdr 

àemgZ Ho$ {bE Amn H$åß`yQ>am| H$m à`moJ {H$g àH$ma  

H$a|Jo ? ì`»`m H$s{OE & 


